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(THER). DRFAXMFEREHE(ON, RARBETH RC EHEE (a) h WEHE
2R | |

R (a) EERESGHH ROERSBEY,

@ 2afe 2ax10x10°
" K, K,  8.®xI0 ~0.7V

EE%%#%&W@%{”% vs Fﬁlﬂﬁiﬁﬁk% b

R P10.28 &,
?
0 Ve == V_qﬂ_n_
f= ;j*:ﬁ _'"‘0‘272“ —0.785rad (EP45°)

(b) o3y 10kHz, MBRHEE N 0-—20kHz. Eﬂﬁﬁﬁﬁﬁ$ﬁ20k1ﬁ. i s
HJ‘EEEK%%ET@)\EEIE;‘E%EEE? 8V,

27 X 20X 10°

— Eomax _ = 4 .
_(Kn)b'——'_'_vc = 2.8 4.49%10 r._ad/s v

S K, ..
i Kp=%F" ReCs
Ay Ko RHH.

(Kp)s _ (ReCode
(Kods  (HeCode

8.98x 10"
Taox10r 2 ReCode

(RC)s={RaC)a%

_ (¢) ¥FHBMBOAERDE P10.30a iR, N WHEERPOERS, B $08m
%X fo=Nfy=5x2=10kHz, N W¥ME GHHE[OE) RELZHE, AWM IER 9,

e
L-ekﬁ;——lm fi t g Boieh ——D—« e T 2 T £,
L——_. H N ! | .

it ¥l

EP10.30a
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(d) HAEPIO.0H, RERFRNBHE - 2 M EREHRBMME fo=Nfs,
CEERERERNMNESEE NN, BHEGChHEERM—E, DE() RN
% 20kHz, BEBHKHN 40kHz,

HE(b)FER.

(Kp)s=8.98x%10rad/s -V

(RCDe=(RC e = (RC) e = (RC.
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